1/ do/dsum p_ [GeV]
- T
S
= -

|
<
N

|
<
w

107

Ratio to CMS
[N

0.5

7000 GeV pp Underlying Event
= T T T ] T oo T T
B Sum(pT) (pT > 20) 7
B ]
- | .
- g-!..g .
| !! _
- L] -
== he - —
= TEm =
L 3 —
- m CMS E..;.; . -

Pythia 6.423 default vl
= % Pythia 6.423 pro-g20 %.gg

| | | | [ | | | | | |, | P |
- e L LA I B ' ' L
¢ E
- -
- Fopgew T TEOES AT
- LIS R
5 F

I T SR T I T T T T I T T T | T T
0 10 20 30

sum p_ [GeV]

Rivet 3.1.0, = 6.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


